
R A D I A N MEASURE 

measure is tlie 
intercepted by a 
the circle. 

Given: C = 2nr 
l f r = 1 , thenC = 2 7 r (1 )orC=, 

of the length of an arc 
and the of 

Since 360° is one full rotation around the circle, then 360° = 

i of the way around the circle is ^(360°) = or i(27r) = _ 

i of the way around the circle is ^(360°) = or ̂ {2n) = _ 

^ of the way around the circle is ^(360°) = or ̂ {2n) = _ 

To convert degrees to 

To convert radians to 

RADIAN MEASURE 

measure is the 
intercepted by a 
the circle. 

Given: C = 2nr 
l f r = 1 . t h e n C = 27r(1)orC = , 

of the length of an arc 
and the of 

Since 360° is one full rotation around the circle, then 360° =. 

i of the way around the circle is ^(360°) = or ̂ {2n) = _ 

- of the way around the circle is ^(360°) = or k2n) = _ 

I of the way around the circle is ^(360°) = or ̂ {2n) =. 

/ \

To convert degrees to 

To convert radians to 

_, multiply by 

_, multiply by 

TT radians 
180° 

180^ 
n radians 


